Fermentation

When oxygen is not present, glycolysis is followed by a different pathway, this
alternative pathway is called fermentation.
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There are two main types of fermentation:

Alcoholic fermentation-- produces ethanol (alcohol) and carbon dioxide
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Lactic Acid Fermentation-- pyruvic acid accumulated in cells can be converted into
lactic acid when NAD+ is regenerated for glycolysis to continue if there is not

enough oxygen present.
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Unicellular organisms also produce lactic acid as a
waste product during fermentation.




